
QF CODE: ?S024S93
ililillllliltililr1l

25024893

liltffiffiffiffiffiffilllll

Weightage: 30

i8x'!=8 y;eightage)

Reg S*

Name

lVl.Com DEGREE tCSSi EXAMINATION, APRIL 2025

Fourth Semester

Masier of Commerce and Management

CQRE " CMO2O4O1 - STRATEGIC FINANCIAL MA,F.IAGETV}ENT

2O2OADMISSICN ONWARDS

97?pA05C

Time: 3 l"'lours

Part A {$hort Answer Questions}

Ansvrer any eight questlons.

Weight 1 each.

l What is wealth maximisation?

?. What do you mean by the dividend policy of a company?

3. Explain float management.

'1. What are the 5 C's *f cre<iit en*lysis?

5' What do you mean by inventary management?

From the following data calculate initial investment and annual cash inflows.

lnvestment Rs.5,00,000

6. lnstallation charges Rs.60,000

Life ofthe project 5 Years

Profit before depreciation and tax Rs. 2,00,000

Tax rate 50 Percent

v. What is decision tree analysis?

S. Mention the relavance cf Prinrary and $econdary Period ln lease agreements

S. l\ihat is a CAMEL mrldel?

10' Explain the average pa-yrnent Feliod.

Part B {$ho* EssaylProblems}

Answer any six guesilbns.

Weight 2 each.

:l

11 . What is under-capitalisalion? What are its causes? Suggest seme remedies.
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A company has R.s,6 per year carrying ccst on each unit ol inventory, annua! usage o{ 1,20,000 units,

and an orderinq co$t of Rs.20B per order. calculate the ectnomic order quantity' lf a quantity discount

of Re 0.25 Per unit is offered tc ihe

cOmpanyvyhenitpurchasesinlotsofl,000units,shguldthediscountbeaccepted?

Discuss the factars influencing capital budgeting

s Ltd. has Rs.10,00,000 allocated for capital budgeting purposes. The following proposals and

ascertained profitability indexes have been determined:

Project Amount Profitability lndex

I 3,00,000 1.'46

2 L.00,000 0'98

3 5,00,000 2'3L

4 2,00,000 732

5 1,50,000 1-'25

which of the above investments should be taken? Assume that projects are indivisible and there is

noalternativeuseofmoneyallocatedforcapitalbudgeting.

ComparethebeneiitsofdifferentleaseagreernentsinviewofLessorandLessee?

Brieflydiscusstheframelvorkforevaluationgfleasefrorntheviewpointofalessor.

What are caPital adequacY ratiss?

Frcn: the foll*vring parlicuiars rxtrarted from the ha*ks *f Ash*k & C*' Ltc!', tcrnpiite lhe

f*l[*wing reti*s and cor.]ment;

{a}Thecurrentratio,{b}AcidTestRatio.{c}Stock-TurnoverRatio.idiDebtorsTurlover

Ratio, {ei Credltors'Turnover R*tia, and Average Debt Coilection period'

7-1"-2*2?- 31-12-2A22

Biils Receiv;ble 3i],0C0 6fi,0$0

Bills Payable 60,000 30,000

Sundry Debtors 1,20,000 1,50,000

Sunclry Creditors 75,000 1,05,000

Stoe k-in'trade 96,*AB 1.44'000

Add itional informalian :

{a}0n31.].2.2022,therewerea55et5:BuildingRs,?,00,Cfi0,CashRs.1.20.fi1]0andCashel

Bank Rs. 96,SC*.

{b} Cash purchases lvere Rs. 1,38,000 and Purchases Returns were fts' 18'000'

{c} Cash sales were Rs' 1,50,000 and 5ales returns were fls' 6'00S'

Therateafgrossprofitwas25percentonsalesandtheactualgrossprofitwasRs'
I En nnnt'rvtuvv 
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Part C {Essay Type QuestEons}

Ansvr*r any fwa quesfiors.

Weight 5 eacJr.

Tirumala Steel Company Ltd. is expecting a net operating income (EBIT) of Rs. 1,00,000. The equity

capitalization rate is 12.5 percent" The company has used an I percenl debt of Rs. 3,00,000. You are

required to determine the value of the firm (V) and the cost of capital {Ko).

Case 1

The company is planning to increase debt (leverage) by Rs. 2,00,000 and uses these funds to retire

19. equity capilal ta that extent.

The cost of debt is 10 percent and the cost sf equity is 15 percent.

Case 2

The company plans to increase the debt by Rs. 2,00,0S0 by the issue of debentures o{ the same am*unt^

The cost of debt is

12 percent and the cost of capital is 17 percent.

Z*. Discuss different types of leverage. How are they related t* the risk position cf the firm?

21. "tnadequate working capital is disastrous, whereas redundant working capital is a criminal westel'

Do yau agree? Explain with

suitable examples

22. How can the probability theory be utilised in analysing the risk of investment projects? lllustrate.
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